

(1)

$$\int_0^1 \frac{\ln(1+x)}{x} dx = \frac{\pi^2}{12}$$

$$(1) \quad \ln(1+x) = \sum_{n=0}^{\infty} (-1)^n \frac{x^{n+1}}{n+1}$$

0 kontrolat De
ngvje 0

$$f = \sum_{n=0}^{\infty} (-1)^n \frac{x^n}{n+1}$$

(2) (d) $h_n = \frac{1}{n+1}$ o \checkmark integratelnai.

$$h_n \stackrel{?}{=} h_{n+1} \quad \frac{x^n}{n+1} \stackrel{?}{=} \frac{x^{n+1}}{n+2}$$

$$\frac{n+2}{n+1} = x \in [0,1] \quad \text{o \checkmark } \checkmark$$

\rightarrow L $_{3e}$ produkt \bar{z} a f

$$(3) \quad \int_0^1 \sum_{n=0}^{\infty} (-1)^n \frac{x^n}{n+1} dx = \sum_{n=0}^{\infty} \int_0^1 (-1)^n \frac{x^n}{n+1} dx =$$
$$= \sum_{n=0}^{\infty} (-1)^n \left[\frac{x^{n+1}}{(n+1)^2} \right]_0^1 = \sum_{n=0}^{\infty} \frac{(-1)^n}{(n+1)^2} = \underline{\underline{\frac{\pi^2}{12}}}$$

$$(2) \int_0^1 \frac{\ln(1-x)}{x} = -\frac{\pi^2}{6}$$

$$(1) \frac{\ln(1-x)}{x} = \frac{1}{x} \sum_{n=0}^{\infty} (-1)^n \frac{(-x)^{n+1}}{n+1} = (-1) \sum_{n=0}^{\infty} \frac{x^n}{n+1}$$

(2) Levi pro Facy - uzaporne, moitelne!

$$(3) \int_0^1 \frac{\ln(1-x)}{x} = \int_0^1 \sum_{n=0}^{\infty} (-1)^n \frac{x^n}{n+1} \stackrel{\text{Levi}}{=} (-1) \sum_{n=0}^{\infty} \int_0^1 \frac{x^n}{n+1} = - \sum_{n=0}^{\infty} \left[\frac{x^{n+1}}{(n+1)^2} \right]_0^1$$
$$= - \sum_{n=0}^{\infty} \frac{1}{(n+1)^2} = -\frac{\pi^2}{6}$$

(3)

$$\int_0^{\infty} \frac{dx}{1+e^x}$$

$$(1) \frac{1}{1+e^x} = \frac{e^{-x}}{e^{-x} + 1} = e^{-x} \sum_{n=0}^{\infty} (-e^{-x})^n$$

(2) (a) form. $\sum_1 \int_0^{\infty} \frac{1}{1+e^x}$ konvergenz z. LSK

$$(3) \int_0^{\infty} \frac{1}{1+e^x} = \sum_{n=0}^{\infty} \int_0^{\infty} (-1)^n \underbrace{e^{-nx-x}}_{e^{-x(n+1)}} = \sum_{n=0}^{\infty} (-1)^n \left[\frac{e^{-x(n+1)}}{-(n+1)} \right]_0^{\infty}$$

$$= \sum_{n=0}^{\infty} (-1)^{n+1} \frac{1}{n+1} = \ln 2$$

$$(4) \int_0^{\infty} \frac{x}{e^x + 1} dx$$

$$(1) \frac{x}{e^x(1+e^{-x})} = \frac{x}{e^x} \sum_{n=0}^{\infty} (-1)^n e^{-nx} = \sum_{n=0}^{\infty} \underbrace{(-1)^n x e^{-(n+1)x}}_{g_n(x)}$$

$$(2) \int_0^{\infty} \sum_n |g_n(x)| dx = \int_0^{\infty} \sum_n x e^{-(n+1)x} dx = \int_0^{\infty} \frac{x}{e^x - 1} dx < \infty$$

Lebesgue

$$(3) \int f(x) = \sum_{n=0}^{\infty} \int_0^{\infty} (-1)^n x e^{-(n+1)x} dx = \sum_{n=0}^{\infty} (-1)^n \frac{1}{(n+1)^2} = \frac{\pi^2}{12}$$

$$(J) \int_0^{\infty} \frac{x}{e^x - 1} dx$$

$$(1) f(x) = \frac{x}{e^x} \cdot \frac{1}{1 - e^{-x}} = x e^{-x} \sum_{n=0}^{\infty} e^{-nx} = \sum_{n=0}^{\infty} x e^{-(n+1)x}$$

(2) Levi

$$(3) \int_0^{\infty} f(x) = \int \sum x e^{-(n+1)x} = \sum \int_0^{\infty} x e^{-(n+1)x}$$

$$\int x e^{-(n+1)x} = \int x \cdot \frac{e^{-(n+1)x}}{-(n+1)} = \int \frac{e^{-(n+1)x}}{-(n+1)}$$

$$\begin{array}{l} \downarrow \\ u \end{array} \quad \begin{array}{l} \downarrow \\ v' \end{array}$$

$$u' = 1 \quad v = \frac{e^{-(n+1)x}}{-(n+1)}$$

$$\downarrow \frac{e^{-(n+1)x}}{-(n+1)}$$

$$= \sum \left[x \frac{e^{-(n+1)x}}{-(n+1)} - \frac{e^{-(n+1)x}}{(n+1)^2} \right]_0^{\infty} = \sum_{n=0}^{\infty} \frac{1}{(n+1)^2} = \frac{\pi^2}{6}$$

▷ Per partes je Newton ▷

(6)

$$\int_0^1 \frac{x^{p-1}}{1+x^q} dx$$

$$(1) \quad \frac{x^{p-1}}{1+x^q} = \sum_{n=0}^{\infty} (-1)^n x^{p-1} x^{qn} = \sum_{n=0}^{\infty} (-1)^n x^{p-1+qn}$$

$$(2) (d) \quad h_n = x^{p-1} \quad p > 0 \quad \int h_n \text{ conv.}$$

$$\vdots$$

$$h_n \geq h_{n+1}$$

$$x^{p-1+qn} \geq x^{p-1+(n+1)q}$$

$$1 \geq x^q \quad q > 0 \quad \checkmark$$

$$(3) \quad \int_0^1 f(x) = \sum_{n=0}^{\infty} (-1)^n \int_0^1 x^{p-1+qn} dx = \sum_{n=0}^{\infty} (-1)^n \left[\frac{x^{p-1+qn+1}}{p+qn+1} \right]_0^1$$

$$= \sum_{n=0}^{\infty} (-1)^n \frac{1}{p+qn+1}$$

$$(7) \int_0^1 \ln \frac{1}{1-x}$$

$$(1) \ln \frac{1}{1-x} = -\ln(1-x) = \sum_{n=1}^{\infty} \frac{x^n}{n}$$

(2) Levi

$$(3) \int f = \sum \int_0^1 \frac{x^n}{n} = \sum_{n=0}^{\infty} \left[\frac{x^{n+1}}{n(n+1)} \right]_0^1 = \sum_{n=0}^{\infty} \frac{1}{n(n+1)} = 1$$

$$(f) \int_0^{\infty} \ln \frac{1+x}{1-x} dx$$

$$(g) \left(\ln \frac{1+x}{1-x} \right)' = \frac{2}{1-x^2} \quad \ln 1 = 0$$

$$\left(\ln \frac{1+x}{1-x} \right) = 2 \sum_{n=0}^{\infty} \frac{x^{2n+1}}{2n+1}$$

2. moment Σ :

$$\frac{2}{1-x^2} = 2 \sum_{n=0}^{\infty} x^{2n}$$

|| obě strany \int

$$\ln \frac{1+x}{1-x} = 2 \sum_{n=0}^{\infty} \frac{x^{2n+1}}{2n+1}$$

(2) Levi

$$(3) \int f = 2 \sum_{n=0}^{\infty} \int \frac{x^{2n+1}}{2n+1} = 2 \sum_{n=0}^{\infty} \frac{1}{(2n+1)(2n+2)}$$

$$= 2 \sum_{n=0}^{\infty} \frac{1}{2n+1} - \frac{1}{2n+2} = 2 \sum_{n=1}^{\infty} \frac{(-1)^n}{n} = \underline{\underline{2 \ln 2}}$$

$$\frac{1}{1} - \frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \frac{1}{5} - \frac{1}{6} \dots$$

$$(9) \int_0^1 \frac{1}{x} \ln \frac{1+x}{1-x} dx$$

$$(1) f(x) = 2 \cdot \frac{1}{x} \sum_{n=0}^{\infty} \frac{x^{2n+1}}{2n+1} = 2 \sum \frac{x^{2n}}{2n+1}$$

(2) Let's

$$(3) \int f = \sum_{n=0}^{\infty} 2 \int_0^1 \frac{x^{2n}}{2n+1} = 2 \sum \left[\frac{x^{2n+1}}{(2n+1)^2} \right]_0^1 =$$
$$= 2 \sum_{n=0}^{\infty} \frac{1}{(2n+1)^2} = \frac{\pi^2}{4}$$

(10) $\int_0^{\infty} e^{-x} \cos \sqrt{x} dx = \frac{2}{\sqrt{e}}$

(1) $\cos y = \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n}}{(2n)!}$

$f(x) = \sum_{n=0}^{\infty} (-1)^n e^{-x} \frac{x^{2n}}{(2n)!} \quad x \in (0, \infty)$

(2) (d) $h_n = e^{-x} \frac{1}{(2n)!} \in L^1(0, \infty)$

$h_n \stackrel{?}{=} h_{n+1} \quad \text{NE?} \quad \frac{e^{-x} x^{2n}}{(2n)!} \stackrel{?}{\leq} \frac{e^{-x} x^{2n+2}}{(2n+2)!}$
 $\text{NE} \quad x \in (2n+2)(2n+1)$

(e) $\int_0^{\infty} \sum_{n=0}^{\infty} e^{-x} \frac{x^{2n}}{(2n)!} dx \quad ?$

(b) $\sum_{n=0}^{\infty} \int_0^{\infty} e^{-x} \frac{x^{2n}}{(2n)!} dx = \sum_{n=0}^{\infty} \frac{1}{(2n)!} \cdot n! < \infty$

$\downarrow \text{AL}$
 $\frac{\frac{(n+1)!}{(2n+2)!}}{\frac{n!}{2n!}} = \frac{2n(n+1)}{(2n+2)(2n+1)} \rightarrow \frac{1}{2} \checkmark$

(3) $\int_0^{\infty} f = \sum_{n=0}^{\infty} (-1)^n \int_0^{\infty} e^{-x} \frac{x^{2n}}{(2n)!} dx = \sum_{n=0}^{\infty} (-1)^n \frac{n!}{(2n)!}$

Hint: $\int_0^{\infty} e^{-x} x^n dx = n!$

$$(1) \int_0^{\infty} e^{-ax} \sin bx \quad |b| < a$$

$$(1) \sin y = \sum_{n=0}^{\infty} (-1)^n \frac{y^{2n+1}}{(2n+1)!}$$

$$f(x) = e^{-ax} \underbrace{\sum_{n=0}^{\infty} (-1)^n \frac{(bx)^{2n+1}}{(2n+1)!}}_{g(x)}$$

$$(2) \int_0^{\infty} e^{-ax} \frac{(bx)^{2n+1}}{(2n+1)!} = \sum 1 \quad 1$$

$$\int_0^{\infty} e^{-ax} x^n dx = \frac{n}{a} \int_0^{\infty} e^{-ax} x^{n-1} dx \quad \int_0^{\infty} e^{-ax} dx = \frac{1}{a}$$

$$\int_0^{\infty} e^{-ax} \sum_{n=0}^{\infty} \frac{(bx)^{2n+1}}{(2n+1)!} dx \quad ?$$

$$(b) \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} \int_0^{\infty} e^{-ax} (bx)^{2n+1} dx = \sum_{n=0}^{\infty} \frac{1}{(2n+1)!} \cdot \frac{1}{a} \cdot \frac{1}{a} \cdot \frac{2}{a} \dots \frac{(2n+1)}{a} |b|$$

$$= \sum_{n=0}^{\infty} \left(\frac{|b|}{a}\right)^{2n+1} \cdot \frac{1}{a} < \infty$$

Geom. $\sum \quad |b| < a$

(3) Hypothesis

$$\int_0^{\infty} e^{-ax} \sin bx = \sum_{n=0}^{\infty} (-1)^n \left(\frac{b}{a}\right)^{2n} \cdot \frac{b}{a^2} =$$

$$= \frac{b}{a^2} \frac{1}{1 + \frac{b^2}{a^2}} = \underline{\underline{\frac{b}{a^2 + b^2}}}$$